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1. My uncle forced (1)) my

friend and | (2)/ to stay
back. (3)/no error(4).

(2)’1’ DI ST8 ‘me’ BRI
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2. It was him(1) / who came

running (2)/ into the

classroom (3)/ No error (4)S8=

2- (1) ‘It was him’ &1 S8 ‘it
was he’ Eﬁlllll
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3. Government departments should
(1)/ share information with (2)/ No
one so that (3)/ they records are up-

to-date. (4)

3-(4) ‘they records’ Pl oliTg ‘their records’ él‘ll I
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| ) 4. Companies should hold such (1)/

Conferences more often so that
(2)/ it can discuss their problems

(3)/ and come up with solutions.

4 (3) ‘It can ﬁ\_rITI_G' ‘they can’

EﬁTIT ?Rﬁ'%ﬂ'e' pronoun,

companies(plural) noun %1‘2113
T RO T R
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5. Today many companies (1)/

are working to design (2)/

computers who will not (3)/__,

harm the environment. (4)

5- (3) ‘who’ @I S8 ‘which’
gl Tifd  Relative
pronoun &I Antecedent
computers %I
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6. A Good friend of(1) / me has been (2)/ In

London for twenty years.(3) / No error (4)

(2) me &I STE * mine’ I, TiTPH
A/ An + SCN + of + Passessive Pronoun &I G{Qf

gIdT 8- ‘One of many’

¢RAT- He is a friend of me. (x)
He is a friend of mine.(V)
QUD] G{foﬁ?ﬂ% he is one of my friends.
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7. Everyone section of (1) / the

society is feeling (2) / the
pinch (3) / of rising prices and

corruption.(4)

(1) ‘Everyone’ ﬁTrITI_s"Each” él‘ll
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8. You and myself (1)/ will
enjoy the party (2)/ to be
arranged in honour of (3)/
the new chief Manager(4) 4=

(1) myself” @I STg 1 R
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9. It was (1)) me who
telephoned (2)/ the fire
service.(3)/ No error(4). 4=

(2) me who telephoned’ Bl
uiile ‘|l who telephoned

I
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10. Though she appears to be
very tall(1)/ She is just an inch
(2)/ taller than me.(3)/ No error

(4).

(3) Taller than me ‘ me G|
uii[g taller than | ‘él‘ll
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11. He told his friends that
(1))leach of them (2)/
should be able to carry out
the orders oneself.(3)/ No
error (4).

(3) ‘oneself’ ﬁ\_rl'l'l_s'
‘himself’ él‘ll
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12. Ashok is among the (1)/ few people In
the world (2)/ which did not blindly

follow (3)/ the path of others. (4)

(3)'Which’ 1 S[{Tg
‘that’ T |
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13. Most of the people which

(1)/ have been victim (2)/ of

extreme violence (3)/ are too

frightened to report it to t@

police (4)
2- (1) ‘which’ ®1 S8 ‘who’ SRTT|
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14. Only after a lot of personation, (1)/
the illiterate villager allowed (2)/ him
self’s girl child (3)/ to study in the

school. (4)
3-(3)‘himself’s’ &1 ST ‘his’ 1T
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15. The principal spotted

Indira (1)/which was

sitting in (2)/ the canteen
at the time when (3)/ sh@
V\(z;!cﬂﬁlchb%ﬁ aHending the

cla=mme (4)
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16. India needs a value education

system (1)/ Who will inculcate

values (2)/ among the student
and (3)/ enrich é
PessWIa! iERSTTE!) ‘which’

=TT |
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17. A man who has been (1)/

accused of fraud in (2)/ an

earlier job he will never be (3)/

walcommqﬁm ﬁﬁ%wother
subject’ ‘A man %I
RLIaqy awno IS a(é'raduate is eligible for
the post.
L1+ ¥W-fHAl Antecedent & dlc‘,\_rﬁ Relatlve

pronoun ﬁ?ﬂ%ﬁ Relative pronoun P @IIc‘.
N R W
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18. He is a university professor (1)/

but of his three sons (2)/ neither has

any merit. (3)/ No error (4).

7-(3) ‘neither’ PHISTE ‘none’ él‘lll



SSC CGL/CHSL TIER 2 (CRASH COURSE)

19. No one except he (1)/ knew

which questions (2)/ were

going to be (3)/ asked in th
test. (4) @

(1) ‘No one except he’ Pl

olifle ‘No one except him’
=TT 1
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20. Them were very (1)/ disciplined and
quite (2)/ When the new teacher (3)/

entered the classroom. (4)

(1) ‘“Them’ B SITE ‘They’ RITI
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12. All those whom (1)/ were at
the concert (2)/ could not stop

(3)/ praising her performanc@

(4) 12- (1) ‘All those whom’ &1
oiile ‘All those who’

SR
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(0

Home Work

/

All those whom (1)/ were at the
concert (2)/ could not stop (3)/
praising her performance. (4)
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(0

Home Work

—/

Answer

The Infection which causes
gums to bleed and teeth to fall out
(2)/ results from the build-up of (3)/
a particular bacteria
common to most mouths. (4)

that

(1)/

IS
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